
SOLUTION/ ANSWER KEY OF PRACTICE PAPER -I 
CLASS XII MATHEMATICS 

2019-20 
Q NO  VALUE POINTS 

1 (D) square matrix 
2 (C) A2 – B2 + BA – AB 3 (D)8 
4 (C) 1/2 
5 (D) (α,β,-γ) 
6 ( B )ଶ

ହ 
7 (B) 9/10 
8 (C)tan ݔ − cot ݔ + ܿ 
9 (A) (2,0,0) 

10 (D) ଶ
√ଶଽunits 

11 R= {(3,8),(6,6).(9,4),(12,2)} 
12 a=2 
13 X+y=0 

OR 
(−∞, −1) 

14 y=2 
15 

ቌ Ԧܽ. ሬܾԦ
หሬܾԦหଶቍ ሬܾԦ 

ܱܴ 2/3,2/3,-1/3 
16 -Interchanging rows and column  we get ∆=  อ 0 ܽ − ܾ ܽ − ܾܿ − ܽ 0 ܾ − ܿܿ − ܽ ܿ − ܾ 0

อ 

Taking (-1) common from R1,R2,R3we get        
 ∆=(−1)ଷ อ 0 ܾ − ܽ ܿ − ܽܽ − ܾ 0 ܿ − ܾܽ − ܿ ܾ − ܿ 0

อ=- ∆      
            
            
 therefore  2∆=0 ∴  ∆= 0   17 xlog ݔ − ݔ + ܿ 

18 4  OR 



xtan ௫
ଶ+c 

19 ݁௫ cos ݔ + ܿ 20 yx= ௫మ
ଶ +c 

21 Let Ԧܿ denote the sum of Ԧܽ& ሬܾԦ we have Ԧܿ=(2ଓ̂ -ଔ̂ +2 ෠݇)+( -ଓ̂ +ଔ̂ +3 ෠݇) =ଓ̂+5 ෠݇  now 
ห Ԧܿመห=√1ଶ + 2ଶ=√26 
Required unit vector is  ܿ̂= ௖

|௖Ԧ|ሬሬሬሬሬԦሬሬሬԦ = ଵ
√ଶ଺(ଓ̂+5 ෠݇)= ଵ

√ଶ଺ ଓ̂+ ହ
ଶ଺ ෠݇  

OR P(2,3,0)  and  Q(-1,-2,-4)  
ܲܳሬሬሬሬሬԦ=(-1,-2)ଓ̂+(-2,-3)ଔ̂+(-4,-0) ෠݇  
     = -3ଓ̂-5ଔ̂-4 ෠݇  
∴ Vector joining P and Q given by ܲܳሬሬሬሬሬԦ=-3ଓ̂-5ଔ̂-4 ෠݇ 

22 a=1/2 not reflexive 1/2≤1/2 so R is not Reflexive  
A=9, b=4, c=2 , not transitive  
Oܴ 
ݏ݋ܿ ቂsin−1 ଵ

ସ + sec−1 ସ
ଷቃ= ܿݏ݋ ቂsin−1 ଵ

ସ + cos−1 ସ
ଷቃ 

=cos (sinିଵ ଵ
ସ) cos (cos−1 3

4)-sin sinିଵ ଵ
ସ sin cosିଵ ଷ

ସ 
=ଷ

ସ ට1 − (ଵ
ସ)ଶ-ଵ

ସ ට1 − (ଷ
ସ)ଶ 

 
=ଷ√ଵହି√଻

ଵ଺  
23 y=݁௔ ୡ୭ୱషభ ௫ ⇒ ௗ௬

ௗ௫ = ݁௔ ୡ୭ୱషభ ௫(-a) ି௔
√ଵି௫మ 

Therefore ,√1 − ଶݔ ௗ௬
ௗ௫=-ay------(1) 

Differentiating again w.r.t x , we get √1 − ଶݔ ௗమ௬ 
ௗ௫మ − ି௫

√ଵି௫మ
ௗ௬
 ௗ௫ = −ܽ ௗ௬

 ௗ௫ 
⇒ (1 −  ଶ) ௗమ௬ݔ

ௗ௫మ -xௗ௬
 ௗ௫=-a√1 − ଶݔ ௗ௬

 ௗ௫ 
=-a(-ay) hence (1-x2)ௗమ௬ 

ௗ௫మ   -xௗ௬
 ௗ௫-a2y=0   

24  Given, diameter of the balloon= ଷ
ଶ(2x+1) 

∴Radius of the balloon= ஽௜௔௠௘௧௘௥
ଶ  

= ଵ
ଶ[ଷ

ଶ(2x+1)] = ଷ
ସ(2x+1) 

For the volume V, the balloon is given by 
V= ସଷ 3= ସ (radius)ߨ

ଷ ଷ]ߨ
ସ(2x+1)] 3 = ଽగ

ଵ଺(2x+1)3 
For the rate of change of volume, differentiate w.r.t x, we get 



ௗ௏
ௗ௫= ଽగ

ଵ଺ ×3(2x+1)2× 2= ଶ଻గ
଼ (2x+1)2 

 
Thus, the rate of change of volume is ଶ଻గ

଼ (2x+1)2. 
25 Given equations of lines are  ௫

ଶ=௬
ଶ = ௭

ଵ  and ௫ିହ
ସ =௬ିଶ

ଵ = ௭ିଷ
଼  

here direction ratios of two lines are (2,2,1) and (4,1,8)  Let ߠ be the acute angle between the given lines, then  
cos = ߠ |ܽ1ܽ2+ܾ1ܾ2+ܿ1ܿ2|

ටa12+ܾ12+ܿ12ටa22+ܾ22+ܿ22
 

cos =ߠ |ଶ×ସାଶ×ଵାଵ×଼|
ඥ22+22+12ඥ42+12+82 

        = |଼ାଶା଼|
√4+4+1√16+1+64         = ଵ଼
√9√81         = ଵ଼
ଷ×ଽ  = ଶ

ଷ ⇒ ଵିݏ݋ܿ=ߠ ቀଶ
ଷቁ 

26 Given n=6 and p= ே௨௠௕௘௥ ௢௙ ௢ௗௗ ௡௨௠௕௘௥ ௜௡ ௢௡௘ ௗ௜௘ 
்௢௧௔௟ ௡௨௠௕௘௥ ௜௡ ௢௡௘ ௗ௜௘ =ଷ

଺= ଵ
ଶ 

∴ ݍ = 1 − ݌ = 1 − 1
2 

So . P(getting a 5 success in six trials)= P(X=5)=6c5p5q1=1x(ଵ
ଶ)ହ(ଵ

ଶ)ଵ=1/64 
27 (i) Reflexive: ∀ a ∈  .a-a|= 0 which is even ⇒ (a,a) ∈ R, hence R is reflexive| ,ܣ

(ii) Symmetric: Let (a,b) ∈ R  ⇒|a-b| is even  ⇒ |-(b-a)| is even ⇒|(b-a)| is even So, (b,a) ∈ R Hence, R is symmetric. (iii) Transitive: Let (a,b), (b,c) ∈ R So, |a-b| is even and |b-c| is even  ⇒a-b=2λ, b-c=2ߤ where λ, μ ∈ ܼ Now, a-c= (a-b)+(b-c)=2(λ+μ) ⇒ |a-c| is even, hence R is transitive. Since R is reflexive, symmetric, transitive 
Therefore, it is an equivalence relation. 



28 

 

 

 29 

 



30 

 

 
31 For the first die : P(6)=1/2 , P(6’)=1/2  

i.e., P(6’)=P(1)+P(2)+P(3)+P(4)+P(5)=1/2 
⇒ P(1)=1/10, P(1’)=9/10        [∴ ܲ(1) = ܲ(2) = ܲ(3) = ܲ(4) = ܲ(5)] 
For the second die: P(1)=2/5 , P(1’)=3/5 
Let X: number of ones seen ∴ ܺ = 0,1,2 
P(X=0)=P( not 1 from 1st die).P(not 1 from 2nd die)= ଽ

ଵ଴ × ଷ
ହ = ଶ଻

ହ଴ = 0.54 
P(X=1)= P( 1 from 1st die) P(not 1 from 2nd die)+ P(not 1 from 1st die) P(1 from 2nd 
die) 
= ଵ

ଵ଴ × ଷ
ହ + ଽ

ଵ଴ × ଶ
ହ = ଶଵ

ହ଴ = 0.42 
P(X=2)= P(1 from 1st die)P(1 from 2nd die)= ଵ

ଵ଴ × ଶ
ହ = ଶ

ହ଴ = 0.04 
The table for probability distribution is shown as below: 

X 0 1 2 
P(X) 0.54 0.42 0.04 

 



32 

Let x kg of food 1 be mixed with y kg of food 2  
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 On comparing the coordinates, we get: α =-1, β=4, γ=-1. Therefore, the Image is M (–1, 4, –1). 36 

 



 
 


